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. The person who lit the freesia candle is not Kamryn.

. The commuter who rides a skateboard is not Nelson.

. The person who lit the eucalyptus candle is not Everett.

. The person who arrived on Tuesday lit the peppermint candle.

. The person who arrived on Monday didn't light the gardenia candle.

. The commuter who rides a skateboard didn't light the gardenia candle.

. The commuter who rides a scooter arrived the day before the person who lit the peppermint candle.

Among the commuter who rides a segway and Roy, one arrived on Tuesday and the other arrived on Thursday.

The commuter who rides a segway is not Nelson.

10. The commuter who rides a scooter is Kamryn.

11. Either the person who lit the gardenia candle or the person who lit the peppermint candle arrived on Tuesday.

12. Among the person who lit the eucalyptus candle and the person who arrived on Tuesday, one uses a mountain bike
to get to work and the other uses a segway to get to work.

13. The commuter who rides a segway arrived sometime after the commuter who rides a 10-speed bike.




